QID: 101 -

In the following question, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

TraftfeT vy & fw o Reeat d @@ vy R
(?) & TS WX HE IR TEA AT

14113 | 12 | 11
17116 | 15| 7

Options:
1) 13

2) 14
3) 12

4) 11
Correct Answer: 14
Candidate Answer: 14

QID: 102 -
How many rectangles are there in the given figure?

& ¢ el & frge 2T B

N

N

Options:
1)4

2)3
3)2

4)5
Correct Answer: 3
Candidate Answer: 4




QID: 103 -
A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matnces. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-l are numbered from 5 to 9. A letter from these matrices can
be represented first by ils row and next by its column, for example, ‘C’ can
be represented by 10, 56, etc., and ‘F’ can be represented by 31, 85, elc.
Similarly, you have to tdentify the set for the word “TRUMP".

UF Qg ad Uh GEIT-H9E g QT T@T g, or fn fawedt # #
AT b # TG T &) Rweul 3 By Tw dwurHes IRRT & Ay auit
3T g Tw §, o e /T T g seggl & 1 InegEl & waew i
G T dear 0 @ 4 ¥ 3R SmgEn A 5§ 91 39 TRl 8 Uw W
T upel sudhr U it o # TaFd HE g gk o @ §
3GRRVT & fow ¢t 10, 56, HIRe GRT Gollam =1 \ehal & d2r ‘F* @l 31,
85, 3l g getar o1 @war &1 = T @ e wa # Ry g
“TRUMP” & Ot @ &) oeamar 8

Matrix-I Matrix-ll
I -l
011234 567|890
0|V|K|D[F|R s|\wlclulGc]|1
1|CIWIO[H|V G| K|JIH|Q|S
21 T|IS|Y|J|S TIU|IE]JY|B|A
3|H|[F|J|C|R 8|F|H|P|L|N
4|ID|S|U|N|A glA|R|IM|T|O

Options:
1) 20, 04, 75, 11, 41

2) 98, 34, 42, 97, 87
3) 67,96, 97, 67, 43

4) 20, 34, 44, 59, 87
Correct Answer: 98, 34, 42, 97, 87
Candidate Answer: 98, 34, 42, 97, 87

QID : 104 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 3 A H B/ 3H I A & g
orm & vy 7l Bt &

N




Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID: 105 -
Which answer figure will complete the pattern in the
guestion figure?

Hid W I AHA U AFR F uiaw @ qu
HIN?

"~




Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID : 106 -
[f & mirror is placed on the line AB, then which of the
answer figures is the right image of the given

figure?

afE wF quT F AB ¥@T W @ ST, ar & T
S EEE S ¥ FE W ety uy ety &
78 ufafes aefre

ICE




Options:

1)
()

ey

2)

@

3)

()

4)

()

Correct Answer:

(D

Candidate Answer:

()

QID: 107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ ouy anpfaal # e sER wee @
AISHT D GUT Wield & 4912 9% "hE T g
e feag geme

\4/

E.--ﬁ-
[
[




Options:
1)

N

Y

=] &1 [ &

Correct Answer:

Candidate Answer:

QID : 108 - If 'P' means "', '‘Q" means ‘="', 'R" means '+’ and 'S' means "'x', then

4Q85S170R11P2=7?
g ' &1 o ', 'Q BT 3 '+, 'R BT o "4 AUT'S' BT 3 'x G, <A

4Q85S170R11P2=7?

Options:

1) 17

2) 15

3) 37

4) 43

Correct Answer: 17

Candidate Answer: [ NOT ANSWERED ]

QID:109-If10P6Q3 =13 and 11 P12 Q13 = 10, then
11P7Q6=7?
IE10P6Q3=13TU11P12Q13 =103, dl

11P7Q6=">
Options:

1)11

2) 12

3)9

4) 27

Correct Answer: 12
Candidate Answer: 12




QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Theme

2. Thirst

3. Thing

4. Thames
5. Thurst

AT edl B UsadI=T H S a1 HF P SIUR o |
1. Theme

2. Thirst

3. Thing

4. Thames
5. Thurst

Options:
1) 42351

2) 41235
3) 43251

4) 41325
Correct Answer: 41325
Candidate Answer: 41325

QID : 111 - In the following question, select the missing number from the given series.
29, 31, 35,41,49,?
ot wy 7 fou T fGeedt # 9 g« sie 1d S|

29, 31, 35, 41,49, ?
Options:
1) 56

2) 59
3) 53

4) 63
Correct Answer: 59
Candidate Answer: 59

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
BD, FH, JL, ?

TH 3 foan T B, o 9 U ue g g1 3 fawed B § 97 9d fawen g, S owmd 9 g

BD, FH, JL, ?

Options:

1) MN

2) NO

3) MO

4) NP
Correct Answer: NP
Candidate Answer: NP

QID : 113 - In the following question, select the odd word from the given alternatives.

Frofofaa uy 7 fu e fawedl # & fawn wee &1 gfu
Options:
1) Brain

2) Lungs
Bhe
3) Kidneys

4) Feet
R F oo




Correct Answer: Feet

Candidate Answer: Feet

R F U
QID : 114 - In the following question, select the odd number pair from the given alternatives.

Frafafed e o fow e e § 3 faww S gm &1 gfuy
Options:

1) 10 - 1001

2) 11-1332

3) 12 - 1727

4) 13 - 2198

Correct Answer: 12 — 1727
Candidate Answer: 11 — 1332

QID : 115 - In the following question, select the odd letters from the given alternatives.
iR vy o AU TN et § 9 favw sierl &1 g

Options:

1) ZAB

2) YZA

3) PQR

4) YZB

Correct Answer: YZB

Candidate Answer: YZB

QID : 116 - Identify the diagram that best represents the relationship among the given classes.
Cat, Rabbit, Humans

g SIRW gAY o 1 fou U ot & i F Wde &1 el e wRd g

faeett, @=n=T, wqw
Options:
1)

Correct Answer:




Candidate Answer:

OO
O

QID : 117 - In the following question, select the related word from the given alternatives.

Hibernation : Sleep : : Marathon : ?

e uy o 3w e faeedl 9 We&itd wsg &) gl
afTeear : g : ARIAE: 2

Options:

1) Heat

ST

2) Race

CISS

3) Fatigue

YHT

4) Water
En

Correct Answer: Race

Candidate Answer: Fatigue
YpT

QID : 118 - In the following question, select the related number from the given alternatives.
22:490::28:?

Fofared uy # fou T e & 3 efia Tem &1 ghul

22:490::28:7?

Options:

1) 784

2) 390

3) 564

4) 790
Correct Answer: 790
Candidate Answer: 784

QID : 119 - In the following question, select the related letters from the given alternatives.
OWL:PXM:: MAN:?

FafaRed vy § fou 1Y fdeedl & 9§ el sieri & gf- )

OWL:PXM:: MAN:?

Options:

1) NBM

2) NBO

3) OBS

4) PQR
Correct Answer: NBO
Candidate Answer: NBO

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.
DISTASTEFUL
Frafeiad fasedl & 9 98 Wea YT S 13U 7T 2s3 & 31&RT BT TANT b Ta1 ST Sl bl

DISTASTEFUL




Options:
1) TASTE

2) DUST
3) STATE

4) TRUST
Correct Answer: TRUST
Candidate Answer: TRUST

QID : 121 - In a row of boys, Prakash is 19t from top and 215t from bottom. How many boys are there in the row?

TSB! Bt U Ufed B, UHTA SR ¥ 19 9f § a1 9 ¥ 21 9F 31 Wi & g fovem a1s& 82

Options:
1) 42

2) 39
3)40

4) 44
Correct Answer: 39
Candidate Answer: 39

QID: 122 - Tis 5 years older than U. U is 8 years younger than V. V is 3 years older than W. W is 9 years younger than X. Which of the following have same age?

T,US5T8aSIgI U, va8aiBleigl v, Wi 3 i ge1 gl w, X ¥ 9 a¥ Blcl g1 FufaRad & I feet oy wam g2
Options:

1)Wand T

WadurT

2)WandV

Wayrv

3)Vand X

Vdur x

4)Xand T

XdurT

Correct Answer: Wand T
WaarT

Candidate Answer: W and T
waarT

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
LAITareS.
II.NoTisR.

Conclusions:
I. Some R are S.
II. AlSareT.

i QT8 U H Ho BUA SR IS a6 37 DY W ARG $v ey 3 1Y &, greiifes I G 1 deil | fireran 81wl 81 g+ e o ok bR Fuffa
F [ U U o 9§ ey, 4T U ol & SR R gaaaTd § |

DY
LadtT, 5%
II. $18 T, R eI Bl

frep:
LFBR, ST
IL @fts, TR
Options:
1) Only conclusion (I) follows.
Faa et (1) T 21
2) Only conclusion (II) follows.
Fad ey (I1) T 8l
3) Both conclusion %follow.

[ 'l
4) Neither conclusion (I) nor conclusion (II) follows.
T fswef (1) 7§ e (1) T R
Correct Answer: Neither conclusige

T e (1) 7 8 e (1D 8




Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

T s (1) 7 € e (1) 1€ B

QID : 124 - In a certain code language, "TALENT" is written as "VZNGMV". How is "ACTIVA" written in that code language?

% fAfE FHs Wil &, "TALENT" &1 "VZNGMV" foRal ST | 39 $Ig HIST & "ACTIVA" &1 fhd TR ferar savme

Options:
1) CUKVBC

2) ZXGRZC
3) CRXZGX

4) CBVKUC
Correct Answer: CBVKUC
Candidate Answer: ZXGRZC

QID : 125 - In a certain code language, "HULK" is written as "56" and "STAR" is written as "62". How is "FULL" written in that code language?

U@ IR S8 U &, "HULK" & "56" 94T "STAR" &1 "62" foral ST 31 39 $Is UIWT § "FULL" &1 fohd UHR forar sigam?
Options:

1) 54

2) 55

3)56

4) 50
Correct Answer: 55
Candidate Answer: 55

QID : 126 - When N is divided by 36, then remainder is 12. What will be the remainder when N will be divided by 9?

& N F1 36 I R_UIR g Sar 8, & I9sa 12 31T 81 A6 391 g1 oid N @1 9 9§ fawifor fasar wrdem?
Options:
1)3

2)4
3)2

4)1
Correct Answer: 3
Candidate Answer: 3

QID : 127 - What is the highest common factor of (6/19) and (16/57)?

(6/19) TUT (16/57) HT HewH THIIAID &1 82
Options:
1) 2/57

2)57/2
3) 4/33

4) 29/4
Correct Answer: 2/57
Candidate Answer: 2/57

QID : 128 - How many numbers from 33 to 143 are divisible by both 4 and 7?

33 9 143 I Tl fora Tt § ot 4 quT 7 S O faursa gt 82
Options:

1)4

2)5

3)3

4)6

Correct Answer: 4

Candidate Answer: 4




QID : 129 - For what value of A, number 37A4 is divisible by 4?

A Torg 7 3 forg TRem 37A4, 4 9 avrsa §2
Options:

1)7

2)0

3)3

4)1

Correct Answer: 0

Candidate Answer: 0

QID : 130 - Which of the following statement(s) is/are true?

1. (V6 — V4) <(V7 - V3)
IL. (V7 + V3) < (V6 + V4)

Fafafea & 3 o7 /3 37 99 §/87?

L. (V6 - V4) <(V7-+V3)
IL (V7 + V3) < (V6 + V4)
Options:

1) Only I

PHIA1

2) Only II

I I

3) Both I and II

13T 11 S

4) Neither I nor II
dAIAgn

Correct Answer: Both I and II

L aATII Gl

Candidate Answer: Only I
Had 1

QID : 131 - If (7/6) of a cube of a number is 252, then what is the humber?

IfE TP WS & o @1 (7/6), 252 § A GBI 1 82
Options:

1)5

2)6

3)7

4)8

Correct Answer: 6

Candidate Answer: 6

QID : 132 - A pipe can fill a tank in 100 hours. Due to the leak in its bottom, the tank is filled in 120 hours. If the tank is full, then in how many hours that leak can
empty the tank?

Qﬁtrra%qwéﬁﬁ 100 He & R T €| TB1 & a9 B [9% g B BRI, I B WRA T 120 € A ¢ 1 3 <t gf o1 g1, 1 a8 55 Tt &l fpa B T el R
THdl 62

Options:

1) 660

2) 500

3) 600

4) 650

Correct Answer: 600
Candidate Answer: [ NOT ANSWERED ]

QID : 133 - X alone can do a work in 20 days. X is 20% less efficient than Y. In how many days can Y alone do the work?

X U@ B BT 31l 20 A § QU AR THha1 51 X, Y F 20% HH SRGIA g1 Y 3hal 39 B Bl fhae &A1 H g1 Hme
Options:

1) 18

2)15

3)16

4) 19

Correct Answer: 16

Candidate Answer: 15

QID : 134 - What is the area (in cm2) of the rhombus having side as 10 cm and one of the diagonal as 12 cm?

s TS foreT Yo 10 T4




Options:
1) 92

2) 9%
3) 94

4) 98
Correct Answer: 96
Candidate Answer: 96

QID : 135 - A merchant allows two successive discounts of 20% and 15% on selling an article. If he gets Rs 816 for the article, then what is the marked price (in
Rs) of the article?

TP AR {5l %G B 990 TG, 20% TUT 15%,1 al HiED Fe 4l 51 (G 98 39 I P 816 T UK Bl §, Al a%g BT 3ifbd Ued (¥ H) 1 52
Options:

1) 1000

2) 1200

3) 980

4) 1280

Correct Answer: 1200
Candidate Answer: [ NOT ANSWERED ]

QID : 136 - A shopkeeper gives a discount of 16% on the marked price. To earn profit of 26%, by how much percent should he mark the price of his goods higher
than its cost price?

TS GHHGR Sifhd &I IR 16% BT T <Al §1 26% BT A1 I HA & [0 I S0+ aRg3fi &1 Hed, Ha T I fove1 vfera sifde siferd 31 aifgw?
Options:
1) 20

2)35
3) 25

4) 50
Correct Answer: 50
Candidate Answer: [ NOT ANSWERED ]

QID : 137 - Of three positive numbers, the ratio of first and second is 4 : 7, that of second and third is 2 : 3. The product of first and third is 4200. What is the sum
of the three numbers?

U eFTeTe el 7 ugel auT Gus] &7 SUTd 4 : 7 §, GENT adT T ST SFJUTd 2 : 3 81 Ugal adl 4T &1 UM 4200 51 <1 SReneil &t a &1 82
Options:

1) 225

2) 215

3) 250

4) 235

Correct Answer: 215
Candidate Answer: 215

QID : 138 - Three numbers are in the ratio 4 : 5 : 6. If the sum of their squares is 1925, then what are the numbers?

07 TSI 4 2 5 : 6 F A H g1 AlG I F BT AT 1925 , T TG T 52
Options:

1) 20, 25, 30

2) 15, 20, 40

3) 20, 35, 30

4) 40, 20, 10
Correct Answer: 20, 25, 30
Candidate Answer: 20, 25, 30

QID : 139 - The average of N numbers is 21. If a number 57 is removed, then average becomes 17. What is the value of N?

N Temsit &1 ST 21 1 3 U e 57 HI gern o, df SiRid 17 €1 il €1 N &1 7 &1 82




Options:
1) 10

2)8
3)9

4) 11
Correct Answer: 10
Candidate Answer: 10

QID : 140 - By Selling 4 articles for 1 rupee, a man gains 25%. Had he sold 2 articles per rupee, then what will be the profit percentage?

1 390 7 4 gg3ll 1 999 IR TP G P 25% BT A T 51 AE 96 T 303 H 2 T 59, ol a1 Ui &)1 g
Options:

1) 120

2) 150

3) 100

4) 225

Correct Answer: 150
Candidate Answer: 150

QID : 141 - An article was sold at 19% gain. Had it been sold for Rs 750 more, then the gain would have been of 34%. What is the cost price (in Rs) of the article?

TP TG BT 19% 1Y TR 51 71 TG 750 T AP Teo TR I T STl Tf 34% T 1Y SIal| axg T hd G (3 ) &1 87
Options:

1) 5500

2) 4000

3) 5000

4) 4800

Correct Answer: 5000
Candidate Answer: 4800

QID : 142 - A number is multiplied by (6/7) instead of (5/8). New value is what percent of desired value?

TH BT B (5/8) B SO (6/7) | IO R 31 ST 81 71 T MU A BT febe1 fard 82
Options:
1) 139.22
2) 137.14
3) 143.33
4) 166.66

Correct Answer: 137.14
Candidate Answer: [ NOT ANSWERED ]

QID : 143 - L is 20% less than M. M is 20% more than N. N is 30% less than P. If P is 2000, then what is the value of L?

L, M3 20% FA I M, N q 20% 31 81 N, P ¥ 30% HH &1 Tf& P, 2000 B, < L T 9 1 82
Options:
1) 1268

2) 1344
3) 1272

4) 1352
Correct Answer: 1344
Candidate Answer: [ NOT ANSWERED ]

QID : 144 - The downstream speed of a boat is 17 km/hr and the speed of current is 2 km/hr. What is the total time (in hours) taken by the boat to cover 65 km
upstream and 170 km downstream?

ot 718 B1 17 R F s 17 6. /eer § 9t o 3t 1 2 fop. 1. /der §1 4R & ufama 65 6.1, auT oR1 % sed 170 5. &t g  FA H A9 @ pa
feaT T (S5 ) @ o2

Options:
1) 10
2) 16
3) 18

4) 15
Correct Answer: 15




Candidate Answer: [ NOT ANSWERED ]

QID : 145 - A man goes to a place at a speed of 20 km/hr and comes back with a different speed. If the average speed is 8 km/hr, then what is the return speed
(in km/hr)?

e &fad 20 fop. 4 /et ot i § fordht =i W S § 991 v s wifa ¥ o srar 81 afe siva ifa 8 ol /eier 8, o 9w e e wifa (. e B) @ 2
Options:
1)5

2)8
3)6

4)9
Correct Answer: 5
Candidate Answer: 5

QID : 146 - What is the compound interest (in Rs) on a sum of Rs 10000 for 3 years at the rate of 2% per annum compounded annually?

10000 % & HAET W 2% ! qifties & TR e YA & 3 a8 ol Tshglg sl (T H) 1 82

Options:
1) 492
2) 300
3) 612.08
4) 624

Correct Answer: 612.08
Candidate Answer: [ NOT ANSWERED ]

QID: 147 -
The bar chart given below shows the sales (in lacs) by 2
companies X and Y from year 2011 to 2015.

dAr BT v g Ry & =¥ 2011 @ 2015 G 2
Fafaat X gour Y Fr ’hr (@@t #@) e ogeiar = g

O Company X /&9aT X O Company Y /HIaT Y
60 ~
—_ ND
— Tg) Q w
2% 50 - s g B
EE 40 T
[ 7] O
22 3018 [
58 2
10
0 T 1
: o [2r] =t [l
o o S = o
(9] [al] (] o™ (2]
Year/a¥

Companies X and Y show the same difference in sales for which of the following years?

HUfr X adT v F faept &1 SR Fafaiad # 9 b= auf & g0 ar
Options:

1) 2012 and 2013

2012 dd1 2013

2) 2011 and 2012

2011 d¥1 2012

3) 2012 and 2014

2012 Y1 2014

4) None of these

ESEEEI R

Correct Answer: 2011 and 2012

aAN11 T N1




Candidate Answer: [ NOT ANSWERED ]

QID: 148 -
The bar chartgiven below shows the sales (in lacs) by 2
companies X and Y from year 2011 to 2015.

Ay f&w 7w gz By A& =F 2011 & 2015 G 2
Fafadt X gour Y Fr & (erar #@) @ geiar T

O Company X /&59r X O Company Y /9T Y
60 %
— ND
2R 50 - oo B3
8 s Ty
=E 40 - 2 5
—_ [ap}
g = 301 R
ag 20 1
RET
0 T 1
: (] (3] =t Lo
S S S S o
o~ [a] (o] (o] (o)
Year/a§

What is the percentage change in sales of company Y from year 2012 to year 2015?

af 2012 § af 2015 dF HUT Y B faet T ufe=rg uRad= w82

Options:
1) 36

2) 66
3) 60

4) 90
Correct Answer: 60
Candidate Answer: [ NOT ANSWERED ]




QID: 149 -
The bar chartgiven below shows the sales (in lacs) by 2
companies X and Y from year 2011 to 2015.

#A=r feT v gvs " A &9 2011 ® 2015 d& 2
Fufadt X dour Y Fir & (erar #@) s geiar 2w

O Company X /&9ar X O Company Y /9T Y
60 o
—_ ND
2R 50 - = oo B3
& 1)
=E 40 - 2 5
= C"J
o = 301 ﬁ
5E 2
10 -
0 T 1
: [al] o =t C]
) b b2 = o
o™ (o] [al] [t} [a]
Year /a9y

What is the average sale (in lacs) of company Y over the 5 given years?

fag g 5 auf 7 ol v 3 ot ot (et ) @ &2
Options:

1) 47

2)37.8

3)84

4)42

Correct Answer: 37.8

Candidate Answer: [ NOT ANSWERED ]




QID : 150 -
The bar chart given below shows the sales (in lacs) by 2
companies X and Y from year 2011 to 2015.

A=y fTw 7w gus B & a§ 2011 & 2015 a+ 2
Fafadt X gour Y Fr & (ama@r #@) @ geiar =

O Company X /&9ar X O Company Y /9T Y
60 N
p— Te] o w
EE 40 h
[ N D
@ = 301 R @
= g 20 -
RRET
0 T 1
'\;‘ (o] (3] =t Lo
S S S p S
(o' (o] [t} [} [ ]
Year/a¥

What is the percentage change in sales of company X from year 2011 to 2013?

af 2011 § 2013 TF HUT X B [&ep! F uferd uRad= w82

Options:
1) 68

2) 84
3) 78

4) 34
Correct Answer: 68
Candidate Answer: [ NOT ANSWERED ]

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

Tge doctor warned the patient against any (1)/ further consumption of alcohol if he desired (2)/ to get cured from the ailment and live a longing life. (3)/ No error
f‘.)p)tions:

1)1

2)2

3)3

4)4
Correct Answer: 3
Candidate Answer: 3

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The viability of FI business is under question, (1)/ because while banks and its delivery partners (2)/ continue to make investments, they haven't seen
commensurate returns. (3)/ No error (4)

Options:
1)1

2)2

3)3

aa R R e e M),




Correct Answer: 2
Candidate Answer: 2

QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

He was laughed by all his friends.
Options:

1) by

2) at

3) to

4) of
Correct Answer: at
Candidate Answer: by

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

They use videos teach the kids.
Options:

1) to

2) for

3) of

4)in
Correct Answer: to
Candidate Answer: to

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Integrant
Options:
1) Gleeful

2) Item

3) Happy

4) Pleased
Correct Answer: Item
Candidate Answer: Pleased

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Overwhelmed
Options:
1) Surprised

2) Calm
3) Kind

4) Peaceable
Correct Answer: Surprised
Candidate Answer: Surprised

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Startled

Options:

1) Composed

2) Amazed

3) Expected

4) Comforted

Correct Answer: Amazed

Candidate Answer: Amazed




QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Docile

Options:

1) Easy

2) Unwilling

3) Agreeable

4) Adaptable
Correct Answer: Unwilling
Candidate Answer: Agreeable

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Truculent
Options:
1) Hateful

2) Brutal
3) Amiable

4) Abusive
Correct Answer: Amiable
Candidate Answer: Brutal

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Zany
Options:
1) Funny

2) Sober
3) Dumb

4) Fool
Correct Answer: Sober
Candidate Answer: Fool

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

The salt of the earth

Options:

1) A good, reliable, honest person
2) Selfish person

3) Motorious person

4) An angry person
Correct Answer: A good, reliable, honest person
Candidate Answer: An angry person

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Dead in the water
Options:
1) No chance of succeeding or making any progress

2) Yielding only confusion
3) Died while swimming

4) Landed in trouble
Correct Answer: No chance of succeeding or making any progress
Candidate Answer: No chance of succeeding or making any progress

QID : 163 - Improve the bracketed part of the sentence.

A university librarian reported (incr|



Options:
1) increase

2) increases
3) increased

4) No improvement
Correct Answer: increased
Candidate Answer: No improvement

QID : 164 - Improve the bracketed part of the sentence.

In China, more than two-dozen higher education research centres, and several government agencies are involved in higher education policy (to) optimum planning.
Options:

1) at

2) for

3)in

4) No improvement

Correct Answer: for

Candidate Answer: No improvement

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

That which cannot be seen through.
Options:
1) Transparent

2) Translucent
3) Neutral

4) Opaque
Correct Answer: Opaque
Candidate Answer: Opaque

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Power of reading thought of others.
Options:
1) Neuropathy

2) Telepathy
3) Homeopathy

4) Orthopathy
Correct Answer: Telepathy
Candidate Answer: Telepathy

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Actualy

2) Actaully

3) Actually

4) Acaully
Correct Answer: Actually
Candidate Answer: Actually

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.




Options:
1) Jerney

2) Journey
3) Juorney

4) Journei
Correct Answer: Journey
Candidate Answer: Journey

QID : 169 - Rearrange the parts of the sentence in correct order.

When we are

P: compelled to act safely
Q: more aware of risks,
R: we feel more

Options:
1) PQR

2) RPQ
3) QPR

4) QRP
Correct Answer: QRP
Candidate Answer: QRP

QID : 170 - Rearrange the parts of the sentence in correct order.

Family planning

P: industrial countries, such as
Q: Japan and most of Europe
R: is national policy in many
Options:

1) PQR

2) RPQ
3) QPR

4) QRP
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Unemployment is the cause of various problems in the society. While the government has taken initiatives to this problem, the measures taken are
not enough. The various factors causing this problem must be studied well to look for effective and integrated solutions for the . It is the time the
government should recognize the sensitivity of the matter and take some steps to reduce it.

the cause of various problems
Options:
1) root

2) branch
3) leaves

4) tree
Correct Answer: root
Candidate Answer: root

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Unemployment is the cause of various problems in the society. While the government has taken initiatives to this problem, the measures taken are
not enough. The various factors causing this problem must be studied well to look for effective and integrated solutions for the . It is the time the
steps to reduce it.

government should recognize the sensitivity of the matter and take some

initiatives to this problem,




Options:
1) deduce

2) reduce
3) increase

4) result
Correct Answer: reduce
Candidate Answer: reduce

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Unemployment is the cause of various problems in the society. While the government has taken initiatives to this problem, the measures taken are
not enough. The various factors causing this problem must be studied well to look for effective and integrated solutions for the . It is the time the
government should recognize the sensitivity of the matter and take some steps to reduce it.

taken are not enough.
Options:

1) affective

2) innovative

3) effective

4) creative

Correct Answer: effective

Candidate Answer: [ NOT ANSWERED ]

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Unemployment is the cause of various problems in the society. While the government has taken initiatives to this problem, the measures taken are
not enough. The various factors causing this problem must be studied well to look for effective and integrated solutions for the . It is the time the
government should recognize the sensitivity of the matter and take some steps to reduce it.

solutions for the .
Options:
1) similar

2) alike
3) distinct

4) same
Correct Answer: same
Candidate Answer: same

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.
Unemployment is the

cause of various problems in the society. While the government has taken initiatives to this problem, the measures taken are

not enough. The various factors causing this problem must be studied well to look for effective and integrated solutions for the . It is the time the
steps to reduce it.

government should recognize the sensitivity of the matter and take some

take some steps to reduce
Options:
1) serious

2) mere
3) last

4) casual
Correct Answer: serious
Candidate Answer: serious

QID : 176 - Which of the following states has the highest irrigation coverage?
ot & 3 g Isu & wwd oftw Rifa &1 &2




Options:
1) Punjab
RIS

2) Haryana
gharon

3) Gujarat

4) Bihar

Correct Answer: Punjab
ol

Candidate Answer: [ NOT ANSWERED ]

QID : 177 - Which of the following is NOT an institution of World Bank?
it & o1 Ay 3@ o Ter g 8

Options:
1) IBRD
SMSalRa
2) IDA

3MESIY

3) IFC

4) ADB

LR

Correct Answer: ADB

Candidate Answer: [ NOT ANSWERED ]

QID : 178 - Which artist decorated the handwritten copy of the Indian Constitution?

50 FaR YR Gy ot geafaraa faat wers o
Options:

1) Raja Ravi Verma

RiEl

2) Mihir Sen

3) Nandalal Bose

ECRIGICIR

4) Ravindra Nath Tagore

TG TR

Correct Answer: Nandalal Bose
EENIKKIRE

Candidate Answer: [ NOT ANSWERED ]

QID : 179 - What can be maximum gap between two sessions of Parliament in India?

YR & TG % <1 A &b ST Sifirman fham SicR 8 gahdr 87
Options:

1) 3 months

3 HgH

2) 6 months

6 Hol

3) 1 year

1 91t

4) 4 months

4 TEH

Correct Answer: 6 months

6 HgH

Candidate Answer: 6 months
6 TG

QID : 180 - Which of the following was the capital city of Maharaja Ranjit Singh's empire?
TTH Y B AR 0l Rig & WHsg $i A ot




Options:
1) Lahore

2) Amritsar

AR

3) Ludhiana

4) qalandhar

SINEH

Correct Answer: Lahore

Candidate Answer: [ NOT ANSWERED ]

QID : 181 - Who is known as the Father of Local Self-government?
RFTT WA & 1 & = & S S S 82
Options:
12 Lord Curzon
Fol
22 Lord Ripon
qre R

3) Lord Carnwalis

4) Lord Dalhausie
e SagTn
Correct Answer: Lord Ripon

Candidate Answer: [ NOT ANSWERED ]

QID : 182 - Which of the following countries share longest land boundary with india?

Fofated & § $F 1 3 YR S 1Y qaite i GiAT I HRar 82
Options:

1) Pakistan

i

2) China

Cik|

3) Nepal

U

4) Bangladesh

ERRICE]

Correct Answer: Bangladesh

Candidate Answer: Bangladesh

QID : 183 - The Nagarjuna Sagar project is constructed on the which of the following river?
ARG PR GREerHT 8 & ¥ g 7t R Fafor far m g2

Options:

1) Godavari

2) Krishna

3) Cauveri

4) Mahanadi
Correct Answer: Krishna

P
Candidate Answer: [ NOT ANSWERED ]

QID : 184 - What is the largest part of the human brain?
T ARTS &1 TaY T81 fEwT S a1 82




Options:

1) Mid brain

e HKIsh

2) Medulla Oblongata
Siisiarer

3) Cerebrum
ARisH

4) Cerebellum
BIRCRES
Correct Answer: Cerebrum

Candidate Answer: Cerebellum

QID : 185 - Which animals may suffer from ‘foot and mouth disease'?

9 A P TFR "R iR g A § Hifsa 8 g 22
Options:
1) Deer

2) Sheep
1s

3) Goat
CLail

4) All options are correct

Tt e Tt B

Correct Answer: All options are correct
Tt foped ot §
Candidate Answer: [ NOT ANSWERED ]

QID : 186 - Which one among the following is known as ‘animal starch’ ?
e # 9 o 91 U@ ‘U ©E & w9 S 916 57

Options:

1) Cellulose

2) Gltjcose

3) Glycogen

TG IS

4) Pectin

Yl

Correct Answer: Glycogen

Candidate Answer: Cellulose

QID : 187 - Persons suffering from myopia are advised to use

TARATET § TR ekt ol JUN HA B AIG <l el g
Options:

1) Concave Lens

S{qdd ad

2) Convex Lens

Jad A9

3) Bifocal Lens

TGS A"

4) None of the option is correct.

gl

Correct Answer: Concave Lens
ST o

Candidgte Answer: Concave Lens
3fadd ad

QID : 188 - What will be the impact on the duration of swinging of a pendulum if it is carried on moon?

YGAH Bl T5H R A SF W 39 Alad B e I GHIMEly IR 1 YHId ghIT?




Options:
1) It will remain the same.

I 81 el

2) It will decrease.

3) It will be zero.
4 B St

4) It will increase.
Correct Answer: It will increase.

Candidate Answer: It will decrease.

QID : 189 - Which of the following is first generation of computer?

70 @ B I hugeR &) ugel Wil B2
Options:

1) ENIAC

2) IBM-1401

3) ASCII

4) None of the;e

T 9 Bl TR

Correct Answer: ENIAC

Candidate Answer: [ NOT ANSWERED ]

QID : 190 - A non-volatile solid is added to water. Its boiling point will

TP TR-qrfie R U & SiisT W ¥ 1 ST B A TR
Options:
1) decrease

2) increase
3) no change !

4) No option is correct
IS ey Tel TE &

Correct Answer: increase

Candidate Answer: increase

QID : 191 - Which of the following cells convert electrical energy into chemical energy?

Fafifea & 4 fru 39§ fgaa Sof & Iamfte e & aaq o o €2

Options:
1) Galvanic

2) Electrochemical
3) Voltaic
dlfecd

4) Electrolytic

Correct Answer: Electrolytic

X

Candidate Answer: Electrochemical

QID : 192 - When was the Montreal protocol assigned to reduce production of Chlorofluorocarbons?

TIRIFARIGIE & 3G B HH P P (AT Aegd WSDpIa &I Ha A gwiiod B 17 e
Options:

1) 2001

2) 1980

3) 1987

4) 1994

Correct Answer: 1987

Candidate Answer: [ NOT ANSWERED ]




QID : 193 - Which of the following state government has signed an MoU with Microsoft India to develop a unique "farm price forecasting model"?

i 7 § 5 T WeHR 7 AEH NIt 35 & 9 U sifgdi "oy qea qaiqu aisa eia &=a & fiw e augiar 997 R gwaer oo g2
Options:

1) Assam

3

2) Karnataka

3) Kerala

B

4) Tamilnadu
Correct Answer: Karnataka

Candidate Answer: [ NOT ANSWERED ]

QID : 194 - Which one of the following was to be discovered first in the chromosphere of the sun?

9 & o a1 g B HroeihaR § ggd SIS T A
Options:

1) Neon

e

2) Argon

Shuc

3) Helium

4) Xenon

S

Correct Answer: Helium

Candidate Answer: Helium

QID : 195 - Who has won the 2017 Women's Singles Wimbledon Championship?

P 2017 Tfigen ved [Saas SR Sid 82
Options:
1) Garbine Muguruza

2) Venus Williams
3) Serena Williams

4) Maria Sharapova

Correct Answer: Garbine Muguruza
e giReon
Candidate Answer: Serena Williams

AT faferg

QID : 196 - The annual "Royal Kathina Ceremony" is associated with which of the following religions?
I "Irae BTl TR FufoRad el & & frass ary ST gen 82

Options:

1) Jainism

2) Parsi

R

3) Buddhism

=

4) Sikhism

IRSLE]

Correct Answer: Buddhism

Candidate Answer: Parsi

QID : 197 - Which of the following award is given for the field of medicine?
i § @ o1 I R Rifdn & & 8 fear s 82




Options:
1) B.C. Roy Award

.41, 9 QREBR
2) Kalinga Award
EIRp|

3) Berlaug Award
IRAN RIHR

4) None of the option is correct.
oI5 ot fawey ue! et §1

Correct Answer: B.C. Roy Award

a3, A IR

Candidvate Answer: B.C. Roy Award
o8 AT QREBR

QID : 198 - Who wrote the book "Old History, New Geography"?

nives e, =g Rrdimwst Reare by feran um
Options:
1) Anand Sharma

|

SIEEY
2) Digvijay Singh
fefiaera Rig

3) Jairam Ramesh

SORTH YA

4) Ashwini Kumar

ST pUR

Correct Answer: Jairam Ramesh
SR 0

Candidate Answer: Anand Sharma
g 3t

QID : 199 - Which country has signed a deal with Russia to buy S-400 missile defence systems in year 2017?

I 2017 T 750 2 A TT-400 RIS &7 YU WRie & I &9 & 91 U GHeic TR §eR faar g2
Options:

1) Turkey

2) Syria

Sifvar

3) Iran

TG

4) Pakistan
Correct Answer: Turkey

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - With which country India signed four pacts in areas of health and transport in September20177?

fdweR 2017 ¥ W SR e & &3 & YR 3 {5y 3 I IR I9id W gxer far g2
Options:

1) Bangladesh

SATGRT

2) Srilanka

3) Afghanistan

ST

4) Nepal

Aure

Correct Answer: Afghanistan

Candidate Answer: [ NOT ANSWERED ]




